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HER2[5 14855 - BRELEICH T A= AR CTHEIN S BEIIMH, ?

CcQ
p [EITEE HERGHIE =XAE | |[RHER2ZEZZATBHRARE
¢ |Lapatinib or Capecitabine EJh /A o [0S
EGF104900,EGF100151,GBG 26/BIG 3-
05
HAERTHI> RCT XHREK 3 a—F
EF) SR LR +ik Inverse—-variance method(RevMan5.3)
1
HREE |/AH HeiE 083( 072 - 092 ) P= 002
Hazard Ratio Hazard Ratio
Study or Subgroup log[Hazard Ratio] S5E Weight IV, Fixed, 95% Cl IV, Fixed, 95% CI
EGF100151 2010 01393 01108 49.0% 0.87 [0.70, 1.08]
EGF104800 2012 -0.3011 01332 34.0% 0.74 [0L57, 0.96] -
GBG 26/BIG 3-05 2011 -0.0619 01882 17.0% 0.94 [0.65, 1.36]
Total {95% CI) 100.0% 0.83 [0.72, 0.97] ¢
Forest plot Heterogeneity, Chi*= 1.35, df = 2 (P = 0.51); F= 0% b e 1 4 e
Testfor overall efiect Z=2.33 (P = 0.02) " Favours [éxperimentalj Favours [control]
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HER2[5 14855 - BRELEICH T A= AR CTHEIN S BEIIMH, ?

CcQ
p [EITEE HERGHIE =XAE MHER2ZEZ S AT RRA
¢ |Lapatinib or Capecitabine B i ;58 5 PFS
EGF104900,EGF100151,GBG 26/BIG 3-
05
HAERTHI> RCT XHREK a—F
EF) SR LR +ik Inverse—-variance method(RevMan5.3)
1
RIER JAIL HEE 0.67 ( 056 - 092 ) P=  <0.0001
Hazard Ratio Hazard Ratio
Study or Subgroup log[Hazard Ratio] SE Weight IV, Fixed, 95% Cl IV, Fixed, 95% CI
EGF100151 2010 -0.5978 0.1625 0.55 [0.40, 0.76] -
EGF104800 2012 03011 0.1243 0.74 [0.58, 0.94] -
GEBG 26/B1G 3-05 2011 -0.3857 01777 0.68 [0.48, 0.96] —=—]
Total {95% CI) 100.0% 0.57 [0.56, 0.79] *
Forest plot Heterogeneity: Chi*= 2,12, df= 2 (P = 0,351 F= 6% T o 1:0 i
Testioroverall efiect 2= 4.63 (F = 0.00001) " Favours [éxparimantalj Favours [control]
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HER2[5 14855 - BRELEICH T A= AR CTHEIN S BEIIMH, ?

CcQ
p |HER2GMEERTS - BRILE. =X aHK T-DM1
¢ |Lepatinib+Capecitabine (EMILIA), TPG (TH3RESA) eEGFE
WMETHFAL> |RCT Xk 3—F |EMILIA2017, TH3RESA2014
EFIL Fixed Model Ak Inverse—variance method(RevMan5.3)
RIER HR HEE 0.73 ( 064 - 083 ) P=  <0.00001
Hazard Ratio Hazard Ratio
Study or Subgroup log[Hazard Ratio] SE Weight IV, Fixed, 95% CI IV, Fixed, 95% CI
EMILIA 2017 -0.2877 0.0809 6&7.9% 0.75[0.64, 0.88] [ ]
THIRESA 2014 -0.3857 01176 32.1% 0.65[0.54, 0.86] -
Total (95% CI) 100.0% 0.73 [0.64, 0.83] +
Heterogeneity: Chi*= 047 df=1 (P=0409); F=0% I } 1 |
PR Testfor owerall effect: Z=4.79 (P = 0.00001} DmFa'v'-JurS l[jélperimemalj Favours [C-j1ntul'-j|: 100
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HER2[GEE5Ts - BRILIEICXN T A= XABE CHEINDBERMM?
CcQ
p [HER2BGTHExs-BRIRE. = X8R | |T-DMI
¢ |Lapatinib+Capecitabine (EMILIA), TPC (TH3RESA) 0 mimE A TR
WMETHFAL> |RCT XEkE |2 3—F |EMILIA2012, TH3RESA2014
EFIL Fixed Model Ak Inverse—variance method(RevMan5.3)
RIER HR HEE 0.61 ( 053 - 069 ) P=  <0.00001
Hazard Ratio Hazard Ratio
Study or Subgroup log[Hazard Ratio] SE Woeight IV, Fixed, 95% Cl I, Fixed, 95% CI
EMILI&Z012 -0.4308 0.0852 GE.0% 0.65[0.55, 0.77] [ ]
THIRESA 2014 -0.6349 01187 34.0% 0.53 [0.42, 0.67] -
Total {95% CI) 100.0% 0.61 [0.53, 0.68] *
Forest plot Heterogeneity, Chif= 1.95, df= 1 (P = 0.16); F= 49% b o e o
Testfor overall effect 2= 7.33 (P = 0.00007) " Favours [experimental] Favours [control]
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HER2[5 14855 - BRELEICH T A= AR CTHEIN S BEIIMH, ?

cQ
p [HER2BGTHExs-BRIRE. = X8R | |T-DMI
¢ |Lapatinib+Capecitabine (EMILIA), TPC (TH3RESA) o |EME:M/MMRED>G3
H|ETHAL> |RCT XEkE |2 3—F |EMILIA2012, TH3RESA2014
EFIL Random Model Ak Inverse—variance method(RevMan5.3)
HEEE (VR MaE 1246 ( 039 - 399'9 ) P= 015
Experimental Control Risk Ratio Risk Ratio
Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% Cl
EMILIAZO12 63 4490 1 488 47.5%  62.74[2.74, 450.57] —a
TH3IRESA 2014 19 403 3184 525% 2.89[0.87, 9.65] —a—
Total (95% Cl) 893 672 100.0% 12.46 [0.39, 309.90] e —
Total events a2 4
Forest p|ot Heterogeneity: Tau®*= 559, ChiF=9.04 df=1 (P =0003), F=89% IU it UI'I 1=D 1DD=
Testfor averall efiect 2=1.43 (F=0.15 " Favours [experimental] Favours [contral)
dAE:  high heterogeneity
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